
Time: 10 Minutes Paper G. Science 7th Total Marks: 10

6th Month, 3rd Week, 1st Day Syllabus: Unit # 12:  Weightlessness + Activity

12.3, 12.3 + Informative. 

Q.No.1 Encircle the correct answer from the following choices. (0.5×4 = 2)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. As Astronaut goes away from the earth its weigh:

‰‰‰‰‰‰‰‰ÜÜÜÜ!!!!****iiiiiiii}}}}ÐÐÐÐŠŠŠŠzzzzgggģ¸̧̧YYYY@@@@****ììììÂÂÂÂZZZZkkkk»»»»zzzziiiiyyyy''''''''''''YYYY@@@@****ììììXXXX

(a) Increases (,| (b) Decreases Áƒ

(c) Moderate Šgx:ƒ (d) No effect ÃðZW,7ƒ@*

2. Gravity of moon is __________ less than that of the earth. 

eeee0000++++ÅÅÅÅ¤¤¤¤////----¨̈̈̈iiii}}}}ÅÅÅÅÚÚÚÚ''''''''''''ÁÁÁÁììììXXXX

(a) Six times ikH (b) Ten times ŠkkH

(c) Twelve times !*g{kH (d) Fifteen times Gg{kH

3. The weight of an object of 1kg on earth surface is about________.

iiii}}}}ÅÅÅÅRRRR6666,,,,ZZZZqqqq----³³³³¤¤¤¤////ZZZZxxxxŸŸŸŸ»»»»zzzziiiiyyyy½½½½ãããã''''''''''''''''ƒƒƒƒ@@@@****ììììXXXX

(a) 5N (b) 10N (c) 15N (d) 20N

4. The weight of an object is due to: ŸŸŸŸ»»»»zzzziiiiyyyy''''''''''''ÅÅÅÅzzzzzzzzÐÐÐÐƒƒƒƒ@@@@****ììììXXXX

(a) Contact force ×¯gk (b) Gravitational force ¤/-~&4k5ÿ
H
G
IE

¯gk

(c) Magnetic force
!5½545ë G

Y
E
G
H¯gk (d) Friction �Û̈

Q.No.2. Write the short answers. (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  Where do astronauts sleep? Ü!*i¹VÎD÷?
(ii) What is the effect on weight when someone lands on the moon.

Z#Ãð¿e0+6,ZF,@*ìÂZkÆziy6,HZW,7,@*ì?

Q.No.3. What is meant by weightlessness? Describe the effect of gravity on weight.  (4)

ÆÆÆÆZZZZWWWW,,,,ÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX """"zzzziiiiyyyyqqqqªªªª»»»»HHHHÈÈÈÈìììì????zzzziiiiyyyy6666,,,,¤¤¤¤////----¨̈̈̈
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